ARt (rml)rm ditlrh ARt Uni,m dCAhlzt
AR¢(b,)
0.0-0.3 0.0566 = 0.0004 =+ 0.0022 1.2-1.5 0.1018 = 0.0005 =+ 0.0016
0.3-0.6 0.1208 + 0.0005 =+ 0.0022 1.5-2.0 0.0663 = 0.0003 =4 0.0014
0.6-0.9 0.1319 + 0.0006 =+ 0.0014 2.0-25 0.02873 4 0.00022 4 0.00089
0.9-1.2 0.1208 + 0.0005 =+ 0.0017 2.5-45 (416 + 0.05 =+0.19) x1073
ARq(by,)
0.0-0.3 0.0576 + 0.0004 =+ 0.0015 1.2-1.5 0.1034 + 0.0006 =+ 0.0014
0.3-0.6 0.1173 =+ 0.0006 =+ 0.0016 1.5-2.0 0.06910 =+ 0.00037 4 0.00084
0.6-0.9 0.1276 £ 0.0006 =+ 0.0013 2.0-2.5 0.02976 4+ 0.00024 + 0.00077
09-1.2 0.1179 =+ 0.0006 = 0.0016 2.5-45 421+ 005 +0.13) x1073
ARt (jw1)
0.0-0.3 0.0813 + 0.0005 =+ 0.0015 1.2-1.5 0.0847 + 0.0005 =+ 0.0011
0.3-0.6 0.1490 + 0.0007 =+ 0.0025 1.5-2.0 0.05319 =+ 0.00030 4 0.00094
0.6-0.9 0.1396 + 0.0007 =+ 0.0016 2.0-25 0.02405 4 0.00018 =+ 0.00057
09-1.2 0.1113 =+ 0.0006 = 0.0020 2.5-45 (3.74+ 0.04 =+0.16) x1073
AR (jw2)
0.0-0.3 0.02833 4 0.00031 =4 0.00085 1.2-1.5 0.1135 + 0.0006 = 0.0012
0.3-0.6 0.0842 + 0.0005 =+ 0.0016 1.5-2.0 0.08220 4 0.00041 =+ 0.00086
0.6-0.9 0.1171 &+ 0.0006 =+ 0.0016 2.0-25 0.04091 =+ 0.00029 =+ 0.00068
09-1.2 0.1218 + 0.0006 =+ 0.0021 25-45 (7.04 + 0.07 +0.24) x1073
AR:(j1)
0.0-0.3 (3.66 £ 0.09 4 0.23) % 103 1.2-1.5 0.02904 4 0.00025 =+ 0.00097
0.3-0.6 0.01099 =+ 0.00015 =+ 0.00047 1.5-2.0 0.0359 £ 0.0002 =+ 0.0011
0.6-0.9 0.01875 4 0.00020 £ 0.00071 2.0-25 0.03657 4 0.00024 4+ 0.00084
0.9-1.2 0.02400 =+ 0.00022 4 0.00073 2.5-45 0.01584 4 0.00008 =4 0.00038
AR:(j2)
0.0-0.3 (1.52+ 0.05 4+0.12) % 1073 1.2-1.5 0.01172 4+ 0.00014 4 0.00065
0.3-0.6 (4.89 + 0.09 4 0.28) x 103 1.5-2.0 0.01304 4+ 0.00013 4 0.00070
0.6-0.9 831+ 0.12 £0.55) x1073 2.0-2.5 0.01203 4 0.00013 4 0.00076
0.9-1.2 0.01028 4+ 0.00013 =+ 0.00055 2.5-4.5 (436 £ 0.04 +0.21) x1073
AR (j3)
0.0-04 5.71+ 022 4+0.82) x10~4 1.5-2.0 (4.04 + 0.06 =+0.33) x1073
0.4-0.8 (2.02+ 0.05 =+0.18) x1073 2.0-25 (3.67+ 0.06 =+ 0.34) x1073
0.8-1.2 314+ 0.06 =+0.25) x1073 25-45 (1.288 = 0.021 =+ 0.099) x1073
1.2-1.5 (3.67+ 0.07 =+0.31) x1073 —
AR (ja)
0.0-0.4 (1.35+ 0.09 +0.26) x10~4 1.5-2.0 (1.13+ 0.03 +0.14) x1073
0.4-0.8 514+ 020 =£0.59) x10~4 2.0-25 (1.02+ 0.03 =+0.14) x1073
0.8-1.2 (8.60 + 0.28 4+ 0.93) x10~4 2.5-45 (3.58+ 0.11 4+045) x10~4
1.2-1.5 (1.02+ 0.03 =+0.14) x1073 —



